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VARLO =C-REF(CO 1)0

VAR20 =100*EMA(EMA(VARLL 6)0 6)/EMA(EMA(ABS(VAR1)[ 6)1 6)[]

MAS50 =EMA(CO 5)0

MA130 =EMA(CO 13)0

UPDO =DRAWLINE(L=LLV/(LO BARSLAST(CROSS(MAL30 MA5))+1)0 LLV(LO BAR
SLAST(CROSS(MA130 MA5))+1)0 H=HHV(HO BARSLAST(CROSS(MAS5C MAL13))
+1)0 HHV(HO BARSLAST(CROSS(MA50 MA13))+1)0 0)0

DOWND =DRAWLINE(H=HHV(HO BARSLAST(CROSS(MA5] MA13))+1)0 HHV
(HO BARSLAST(CROSS(MA50 MA13))+1)0 L=LLV(LO BARSLAST(CROSS(MA130]
MAS5))+1)0 LLV(LO BARSLAST(CROSS(MA130 MA5))+1)0 0)0

HRO =HHV(HIGHO 55)0

HRYO =LLV(LOW 55)0

HRY110 =HR*HRYD

HRY330 =SQRT(HRY11)[]

0 0 O =(LLV(VAR20 2)=LLV(VAR20 7) AND COUNT(VAR2&It[]

00 2) AND CROSS(VAR20 MA(VAR20 2))) ANDREF(DOWNU 1)&t0]
REF(DOWNCI 2) AND UP&gt[]

REF(DOWND 1)0

0 O O =REF(DOWND 1)&t0

REF(DOWNL 2) AND UP&gt[]

REF(DOWNC 1) AND C&lt0]

HHV(HO 21)*0.820

0 O O =REF(DOWND 1)&t0
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REF(DOWNU 2) AND UP&gt[]
REF(DOWNU 1) AND C&lt[T
HRY33[
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00000 VAR20 =(CLOSE-

LLV(LOWO 20))/(HHV(HIGHD 20)-LLV(LOWO 20))*1000

VAR3O =SMA(SMA(VAR20 30 1)0 30 1)/28.5701

VAR4D =EMA(VAR3O 5)0

VAR5 =3*VAR3-2*VARA[

00 0 CROSS(VAR5 VAR3) AND VAR3&ItO]

2.1 AND C&gtO

on

00000000000 CROSS((4*SMA((CLOSE-LLV(LOWD 25))/(HHV(HIGHD
25)-LLV(LOWO 25))*1000 50 1)-3*SMA(SMA((CLOSE-

LLV(LOWDO 25))/(HHV(HIGHD 25)-LLV(LOWO 25))*1000 50 1)0 30 1))0 (8))0
0ooo

Joon

000000000000 .pdf
Joogoooooonn
Joogoooooonn
Joogoooooonn
JOo0o0ooooo00ddn.doc
Joogooooiooioooooooin..

Oooad

Ooooooooono
O00000Oooooooooog
https.//www.gupiaozhishiba.com/subject/69249860.html

0os3/3


/neirong/TCPDF/examples/output.php?c=/subject/69249860.html&n=什么股票指标公式超级牛.pdf
/subject/8324.html
/subject/8348.html
/chapter/9863.html
/neirong/TCPDF/examples/output.php?c=/subject/69249860.html&n=什么股票指标公式超级牛.doc
https://www.baidu.com/s?wd=%E4%BB%80%E4%B9%88%E8%82%A1%E7%A5%A8%E6%8C%87%E6%A0%87%E5%85%AC%E5%BC%8F%E8%B6%85%E7%BA%A7%E7%89%9B
https://www.gupiaozhishiba.com/subject/69249860.html
http://www.tcpdf.org

